[ Efficiency vs vertpos |

~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0}

q

Ratio

A 2 S L L LML LN RN AR LA LR LRLRE RN

T

........................

=
2
N

02
TP vertr (cr%)

Efficiend

—— DQM_V0001_R000000001__Global_CKF_RECO
—— DQM_V0001_R000000001__Global__mkFitl_RECO
—— DQM_V0001_R000000001__Global__mkFit2_RECO

~n 0.2

20.18
(2]
>0.16
>
2
§0.14
o
£0.12
(]

0.06)
0.04
0.02

008+ g

Ratio

q

30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05
>
80.045
=
=0.04
%.035
3
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

Ratio

Sim. PV z (cm)




	Contents
	Page 1


